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35. According to the passage, the impact of the

discovery of the hyoid bone in the field of

Archaeology could best be compared with

which one of the following examples in another

field?

1. The discovery and analysis of cosmic rays

lend support to a widely accepted theory of

the origin of the universe.

2. The original manuscript of a deceased 19th

century author conf irms ideas of the

development of an important work of

literature.

3. Newly revealed journal entries by a

prominent Civil War era politician lead to a

questioning of certain accepted historical

interpretations about the conflict.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 1 and 2 only

(c) 3 only

(d) None of these

Direction: In question number 36, one statement

is given followed by two conclusions. You have

to consider the statements to be true even if

they seem to be at variance from the commonly

known facts. You have to decide which of the

given conclusion follows from the given

statements.

36. Statement:

Recent trends indicate that the number of child

migrants in large cities is increasing. These
children leave their families to join the ranks of

urban poor doing odd jobs in markets,

workshops, hotels or in service sectors.

Conclusions:

I. Migration to big cities should be checked.

II. The plight of poor children should be
thoroughly studied.

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(c) If either I or II follows.

(d) If neither I nor II follows.

37. One of the four — A, B, C and D committed

a crime. A said, “I did it” B said, “I did not” C
said, “B did it” D said, “A did it” If only one of

them is liar, who is lying?

(a) A

(b) B

(c) C

(d) D

38. Two positions of a dice are given below:

When the number at the bottom is 2, what
will be the number at the top?

(a) 3

(b) 5

(c) 1

(d) 6

Direction (39-42): Read the following information

carefully and answer the questions given below:

1. There are five friends - Sujit, Ranjit, Mahesh,

Aman and Roshan

2. Sujit is shorter than Ranjit but taller than

Roshan

3. Mahesh is tallest

4. Aman is little shorter than Ranjit and little

taller than Sujit

39. Who is the shortest?

(a) Roshan

(b) Mahesh

(c) Sujit

(d) None of these

40. If they stand in order of their heights, who will

be in the middle?

(a) Ranjit

(b) Roshan

(c) Aman

(d) Sujit

41. If they stand in decreasing order of their

heights, who will be in the second spot?

(a) Aman

(b) Sujit

(c) Roshan

(d) Ranjit


